(B —1)

i
b'e R EE S % E wEE 4 % EE
i 10
b
C S
o
AFNSAERE PP B i — VST TSI A SRR E
PP TH 40T — T B 3%& 1275 H ¥ Rl
X G AN i B Tk WA
BT RS — VA A CRUERIEA
A Bl H &
I ’%EM%E% "
ST ES —RA
1818mm]>:<90€')jmmi 2 L ¥ & F H H Sf582H H
KIRTT AW, TAIT7L— NI EEE 4 B—R
HOACT AT vF T AT I
( TART IR VAT L) w L. ¥ & 4 H H SF64E3H  H
[ 2 5 ) 2R R GE OB S ERARGE
¢$%§Fﬁ§%ﬁﬁ BEfpoL 7 — g (1 E8kE ) 3P T
JEPREFE  3980.58 N = Fe N HE S = ey o
U T AL ~ RG4S A ESR R 4 [SUEARR—VRBER B AR BLLR
B O H % A AF64E1 A

OB



(#E—2)

(S B
T R DA — VO L CRIE A IEAT 5,
28 N & ]
/NS i < ]
H 7 Bl % M H B
] } T
r  # & & K




(B —3)

Y #] Bl A E (O W) | F2m A E (O W) [ FEIMAL T ()
RO M OE B OA MR Al A2 A3
B .
L | TH 2 BLSE AR A B1 B2 B3
=
s MOE #H Cl C2 C3
| WA D A& D1 D2 D3
# | E B BLEME Y % El E2 E3
12 28 F1 F2 F3
i W Gl G2 G3
B=AXO0. 10 B1=A1X0. 10 B2=A2X0. 10 B3=A3X0. 10
C=A+B Cl=A1+B1 C2=A2+B2 C3=A3+B3
D=AlZxt9 25 FLAR D1=A1XF/C D2=A2XF/C D3=A3XF/C
E=DXO0. 10 E1=D1X0. 10 E2=D2X0. 10 E3=D3X0. 10
F=D+E F1=D1+E1 F2=D2+E2 F3=D3+E3
G1=F1—F G2=F2—F1 G3=F3—F2
) A TR BALRAZELT, MEPSHEY
K 2 7o\ VA, b1 x| b2 x| b3 x
OB OB B TSR P S S 4
%ﬁn%bf:%ﬁo Jhn Jhn Jhn
T Al B SALAE, R T EA R
WAL Z R U C, IHE P
WA E F0, . - -
2K TEAMARIC I B B R Y 5E AN ‘ ‘ ‘
BUT-%E,
B . ) hOE
T =+ X 5 H S




% Fi At 2 B # 28
FHEEE PHTMRABA—LAEAL CREAMA
A BRBAR
I M@AITREE =
it =
T AEAMTHAER =
R =
At
MBS
& &

b ¥




Bl # & % =
% # R [T e @ e

A. fRGRBEAR

I #HAITRES

HACZILE T VXS RT L

FILITL—L 1818 x 909 ) 12
KR 1818 x 909 x 21t 1 12
B2RD 1818 x h200 x 12t 1 12
BR@ 1818 x h600 x 12t ® 4
B % — ARkl 050  h600 & 48
B % — Akl 050 h400 & 16
B % — ARkl 050 h200 & 16
BEFEE Y 1& 16
IR EELY vy b 2
Ry ANRANYFIL - TE - IUhFE +v b 1

INEE

th




